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W44

: Ix—2y+3z=-3

3x+3y—3z=27
Sx+2y—3z=127

P k= 5y —22=-35

2x—4y—1z=-19
2x+ 6y + 1z =157

Sx—4y—5z=-24
Sx—3y—5z=-23
Sx— 6y —6z=-32

H #A:

3x+3y+1z=31
5x—6y+3z=150
Ix—6y+1z=28

6x—4y—2z=12
2x+2y—5z=-24
2x+5y—2z=6

6x+2y—3z=34
2x—1ly—2z=1
3x+5y+2z=44
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Ix—2y+3z=-3

H H1A: o2 GO

3x+3y+1z=31

3x+3y—3z=27 5x— 6y +3z=150

S5x+2y—3z=27 lx—6y+1z=38

x=4 x=17

y=28 y=1

z=3 z=7
Ix—=5y—2z=-35 ox—4y—2z=12
2x—dy—1z=—19 2x+2y—5z=-24
2x+ 6y + 1z = 57 20t 5y—22=6
x=6 x=06

y=1 y=2

z=3 z=8

Sx—4y—-5z=-24
Sx—=3y—5z=-23
Sx— 6y —6z=-32
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6x+2y—3z=34
2x—ly—-2z=1
3x+5p+2z=44
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